
CHEMISTRY

BOOKS - NARENDRA AWASTHI

DILUTE SOLUTION

Exercise

1. The vapour pressure of a give liquid will decrease if :

A. surface area of liquid decreased

B. the volume of liquid in the container is decreased

C. the volume of the vapour phase is increased

D. the temperature is dexreased

Answer: d

W h Vid S l i

https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_h9DWi1t167Hs


Watch Video Solution

2. The normal boiling point of water is 373 k. vapour of waterr at

temperature T is 19 mm hg. If enthalpy of vapoursed is 40.67 kJ/mol, them

temperature Twould be 

(use : log 2 = 0.3, R : 8.3 ):

A. 250 K

B. 291.4 K

C. 230 K

D. 290 K

Answer: b

Watch Video Solution

Jk− 1mol− 1

3. A simple of thliqid  at 18.0 g is inlected into an evacuated 7.6 L

flask maintained at . If vapour pressure of  at  is 24.63

H2O

27.0∘C H0O 27.0∘C

https://dl.doubtnut.com/l/_h9DWi1t167Hs
https://dl.doubtnut.com/l/_4doOY7aPz6lg
https://dl.doubtnut.com/l/_3DxyeYX2tv6j


mm Hg, what wight of the water will be vaproueied when the ssystem

comes to equilibrium? Assume water vapours behaves as an ideal gas.

The volume occupied by the liquid water is negligible compared to the

volume of the container:

A. 0.01

B. 0.1

C. 0.18

D. 0.2

Answer: a

Watch Video Solution

4. Roult's low is obeyed by each constituent of binary liquid solution

when :

A. the forces of attraction between like molecules are greather than

those between unlike molecules

https://dl.doubtnut.com/l/_3DxyeYX2tv6j
https://dl.doubtnut.com/l/_ErOFupPu0i6w


B. the forces of attraction between like molecules are smaller than

those between unlike molecules

C. the forces of attraction between like molecules are identical with

those between unlike molecules

D. the volumn occupid by unlike molercules are different

Answer: c

Watch Video Solution

5. For a binary ideal liquid solution, the total vapour of the solution is

given as:

A. 

B. 

C. 

D. 

Ptotal = P ∘
A

+ (P ∘
A

− P ∘
B )XB

Ptotal = P ∘
B + (P ∘

A
− P ∘

B )XA

Ptotal = P ∘
B + (P ∘

B − P ∘
A

)XA

Ptotal = P ∘
B + (P ∘

B − P ∘
A

)XB

https://dl.doubtnut.com/l/_ErOFupPu0i6w
https://dl.doubtnut.com/l/_vmLBndlOAqcZ


Answer: b

Watch Video Solution

6. Two liquids A and B have  in the ratio of 1 : 3 and the ratio

of number of moles of A and B in liquid phese are 1 : 3 then mole fraction

of 'A' in vapour phase in equilibrium with the solution is equal to :

A. 

B. 

C. 

D. 

Answer: c

Watch Video Solution

P ∘
A

and P ∘
B

Ya < Yb

XA > XB

>
YA

YB

XA

XB

<
YA

YB

XA

XB

https://dl.doubtnut.com/l/_vmLBndlOAqcZ
https://dl.doubtnut.com/l/_bDKsaMCaW74Y


7.  and  are the mole fraction of A and B respectively in liquid

phase  and  are the mole fraction of A and B respective in vapour

phase. Find out the slope of straight line if a graph is plotted  along

Y-axis against  along X-axis gives straight line  and  are vapour

pressure of pure components A and B].

A. 

B. 

C. 

D. 

Answer: a

Watch Video Solution

XA XB

yA yB

1

yA
1

xA

[p∘
A

p∘
B

P ∘
B

P ∘
A

P ∘
A

P ∘
B

P ∘
B

− P ∘
A

P ∘
A

− P ∘
B

8. For a dilute solution, Raoult's low srates that :

https://dl.doubtnut.com/l/_wVpGNYmFh0bo
https://dl.doubtnut.com/l/_uhWeS3ULlxdB


A. the lowering of vapour pressure is equal to the mole fraction

solute

B. the relative lowering of varpour pressure is equal to the mole

fraction of solute

C. the relative lowering of varpour pressure is proportional to the

amount of solute in solution

D. the vapour pressure of the solution is equal to the mole fraction of

solvent

Answer: b

Watch Video Solution

9. A solution containing 30 g of non-volatile solute exactly in 90 g of

water has a vapour pressure of 2.8 kPa at 298 K. Further, 18 g of water is

then added to the solution and the new vapour pressure becomes 2.9 kPa

at 298 K. Calculate: vapour pressure of water at 298 K.

https://dl.doubtnut.com/l/_uhWeS3ULlxdB
https://dl.doubtnut.com/l/_BNpiEcT8F2xf


A. 

B. 

C. 

D. 

Answer: d

Watch Video Solution

X < Y < Z

X > Y > Z

Z > X = Y

X > Y = Z

10. The boiling point of

respectively. Which will show highest vapour pressure at room

temperature :

A. 

B. 

C. 

D. 

C6H6, CH3OH, C6H5NH2andC6H5NO2are80∘C, 65∘C, 184∘Cand212∘C

C6H6

CH3OH

C6H5NH2

C6H5NO2

https://dl.doubtnut.com/l/_BNpiEcT8F2xf
https://dl.doubtnut.com/l/_RTZH2CtS1brr


Answer: B

Watch Video Solution

11. 6.0 g of urea (molecules mass = 60)was dissolved in 9.9 moles of water.

If the vspour presssure of pure water is , the vapour pressure of

solution is :

A. 0.10 

B. 1.10 

C. 0.90 

D. 0.99 

Answer: d

Watch Video Solution

P ∘

P ∘

P ∘

P ∘

P ∘

https://dl.doubtnut.com/l/_RTZH2CtS1brr
https://dl.doubtnut.com/l/_o9FuK8LlWOUJ


12. An ideal solution was found to have a vapour pressure of 80 torr when

the mole fraction of a non-volatile solute was 0.2. What would be the

vapour pressure of the pure solvent at the same temperature?

A. 64 torr

B. 80 torr

C. 100 torr

D. 400 torr

Answer: c

Watch Video Solution

13. If the vapor pressure of a dilute aqueous solution of glucose is

 of Hg at , then molality of solute is

A. 0.26

B. 0.73

750mm 373K

https://dl.doubtnut.com/l/_fVAKbj97kpmW
https://dl.doubtnut.com/l/_9KYy1wXkMGBA


C. 0.74

D. 0.039

Answer: c

Watch Video Solution

14. Name the solute and solvent in an aqueous solution of sugar.

A. 10 torr

B. 18 torr

C. 13.45 torr

D. 24 torr

Answer: c

Watch Video Solution

https://dl.doubtnut.com/l/_9KYy1wXkMGBA
https://dl.doubtnut.com/l/_eIsTz0womZfS


15. Calculate the weight of non  volatile solute having molecular

weight 40, which should be dissolvd in  octane to reduce its vapour

pressure to 

A. 47.2 g

B. 5 g

C. 106.2 g

D. None of these

Answer: b

Watch Video Solution

−

57gm

80 % :

16. Equal mass of a soute are dissolved in equal mass of two solvents A

and B and formed very dilute solution. The relative lowering of vapour

pressure for the solution B has twice the relative lowering of vapour

pressure for the solution A. If  are the molecules mass of

solventds A and B respectively, then :

mAandMB

https://dl.doubtnut.com/l/_4CO0eNdraq5p
https://dl.doubtnut.com/l/_EQiCnRQhwQsd


A. 

B. 

C. 

D. 

Answer: b

Watch Video Solution

MA = MB

MB = 2 × MA

MA = 4MB

MA = 2MB

17. An ideal solution has two components A is more volatile than B, i.e.

 and also . If  are mole fraction of

components A in liquid and vapour phases, than :

A. 

B. 

C. 

D. Data insuffcient

P ∘
A

> P ∘
B p∘

A
> Ptotal XA and YA

XA = YA

XA > YA

XA < YA

https://dl.doubtnut.com/l/_EQiCnRQhwQsd
https://dl.doubtnut.com/l/_dVi2REX7Uql8


Answer: c

Watch Video Solution

18. At , the vapour pressure of pure liquid A (mol. Mas = 40) is 100

torr, and pure liquid B is 40 torr (mol. = 80). The vapour pressure at 

of a solution containing 20 g of each A and B is :

A. 80 torr

B. 59.8 torr

C. 68 torr

D. 48 torr

Answer: a

Watch Video Solution

25∘C

25∘C

https://dl.doubtnut.com/l/_dVi2REX7Uql8
https://dl.doubtnut.com/l/_VWTjpdoZAOdV


19. The lquid A and B from ideal solutions. At 300 K, the vapour pressure

of solution containing 1 mole of A and 3 mole of B is 550 mm Hg. At the

same tempreature, if one more mole of B is added to this solution, the

vapour pressure of the solution increases by 10 mm Hg. determinethe

vapour pressure of A and B in their pure states (in mm Hg):

A. 

B. 

C. 

D. none of these

Answer: a

Watch Video Solution

400, 600

500, 500

600, 400

20. Two liquid A and B have vapour pressure in the ratio =1.3 at a

certain temperature.Assume A and B from an ideal solution and the ratio

P ∘
A

:P ∘
B

https://dl.doubtnut.com/l/_95rTKT35woNv
https://dl.doubtnut.com/l/_wApOdyL4H2BS


of mole fractions of A to B in the vapour phase is 4 : 3, then the mole

fraction of B in the solution at the same tempreature is :

A. 

B. 

C. 

D. 

Answer: a

Watch Video Solution

1

5

2

3

4

5

1

4

21. Two liquids A and B have  in the ratio of 1 : 3 and the

ratio of number of moles of A and B in liquid phese are 1 : 3 then mole

fraction of 'A' in vapour phase in equilibrium with the solution is equal to

:

A. 0.1

B. 0.2

P ∘
A

and P ∘
B

https://dl.doubtnut.com/l/_wApOdyL4H2BS
https://dl.doubtnut.com/l/_tCLl5mn0hTyw


C. 0.5

D. 1

Answer: a

Watch Video Solution

22. Calculate the oxidation number of nitrogen (N) in N2H4

Watch Video Solution

23. Which represents correct difference when non-volatile solute is

present in an ideal solution? 

https://dl.doubtnut.com/l/_tCLl5mn0hTyw
https://dl.doubtnut.com/l/_tQZKegRJCqQA
https://dl.doubtnut.com/l/_SkrfZLzV9lZh


A. I, II, III

B. I, III

C. II, III

D. I, II

Answer: a

Watch Video Solution

24. Select correct statement :

A. Solution has more molecules randomness than a pure solvent. The

entropy change between solution and solid is lager than the

entropy change between pure solvent and solid

B. Heat of fusion of solution are positive

C. Solution containing sugar freezes at a lower tempreature than

pure water

https://dl.doubtnut.com/l/_SkrfZLzV9lZh
https://dl.doubtnut.com/l/_7jGmy07VromT


D. All are correct statements

Answer: d

Watch Video Solution

25. Select correct statement :

A. Heats of vaporisation for a pure sovent and for a solution are

similar because similar intermolecules forces between solvent

molecules must be overcome in both cases

B. Entropy change between solution and vapour is smaller than the

entropy change between pure solvent and vapour

C. Boiling point of the solution is larger than that of the pure solvent

D. All sre correct statements

Answer: d

Watch Video Solution

https://dl.doubtnut.com/l/_7jGmy07VromT
https://dl.doubtnut.com/l/_wO7sbJOUEaF6


26. The vapour pressure curves of the same solute in the same solvent

are shown below. The curves are parallel to each other andnot intersectt.

The concentrations of solutions are in order of : 

A. 

B. 

C. 

D. 

I < II < III

I = II = III

I > II > III

I > III > II

https://dl.doubtnut.com/l/_wO7sbJOUEaF6
https://dl.doubtnut.com/l/_J2fHyHAmcAyL


Answer: a

Watch Video Solution

27. What is the importance of (a) melting point of solid and (b) boiling

point of a liquid ?

A. Composition of the still (residus) will approach pure liquid B only

B. composition of the distillate will approach pure A only

C. Composition of distillate and residus will approach pure A and B

respectively

D. Neither of the componement can be obtained in pure state

Answer: c

Watch Video Solution

28. Dettol is a mixture of :

https://dl.doubtnut.com/l/_J2fHyHAmcAyL
https://dl.doubtnut.com/l/_XjEqrqu1jAvc
https://dl.doubtnut.com/l/_ANnNFvGrarGh


A. the mixture will show negative deviation from Raoult's law

B. the mixture will show positive deviation from Raoult's law

C. the mixture can be considered as ture solution

D. this mixture can be considered as ture solution

Answer: b

Watch Video Solution

29. Formation of a solution from two componenets can be considered as

:

(i) pure sovent  separated solvent molecules,  


(ii) Pure solute separated molecules, 


(iii) separated sovent and solute molecules solution,  


solution so formed will be ideal if :

A. 

B. 

→ △ H1

→ △ H2

→ △ H3

△ Hsoln = △ H1 + △ H2 + △ H3

△ Hsoln = △ H1 + △ H2 − △ H3

https://dl.doubtnut.com/l/_ANnNFvGrarGh
https://dl.doubtnut.com/l/_IVkuJIfV7Vz8


C. 

D. 

Answer: a

Watch Video Solution

△ Hsoln = △ H1 − △ H2 − △ H3

△ Hsoln = △ H3 − △ H1 − △ H2

30. Total vapour pressure of mixture of 1 mole of volaile components A (

)=100 mm Hg) and 3 mole of volatile component B( )

is 90 mm Hg. For such case:

A. there is a negative deviation from Raoult's law

B. there is a positive deviation from Raoult's law

C. there is no deviation from Raoults law

D. can not be decided

Answer: a

Watch Video Solution

Pa% P ∘
B = 80mmHg

https://dl.doubtnut.com/l/_IVkuJIfV7Vz8
https://dl.doubtnut.com/l/_eLv1yINInsUv


31. In a mixture of A and B, components show positive deviation when:

A. A-B interaction is stronger than A -A and B-B interaction

B. A-B interaction is weaker than A-A and B-B interaction

C. 

D. 

Answer: b

Watch Video Solution

△ V mix < 0, △ Smix > 0

△ V mix = 0, △ Smix > 0

32. A liquid mixture ohaving composition corresponding to point Z in the

figure shown is subjected to distillation at constant pressure. Which of

https://dl.doubtnut.com/l/_eLv1yINInsUv
https://dl.doubtnut.com/l/_zawWGPIZWqrD
https://dl.doubtnut.com/l/_KVotikeXIxVF


the following statements is correct about the process?

A. The composition of distillate differs from the mixture

B. The boiling point goes on changing

C. The mixyure has highest vapour pressure than for any other

composition

D. Composition of an azeotrope alters on changing the exernal

pressure

Answer: d

Watch Video Solution

https://dl.doubtnut.com/l/_KVotikeXIxVF


33. Which will from maximum boiling azeotrope ?

A.  solution

B.  solution

C.  solution

D. n- hexane and n-heptane

Answer: b

Watch Video Solution

C6H6 + C6H5CH3

HNO3 + H2O

C2H5OH + H2O

34. Total vapour pressure of mixture of 1 mole of volaile components A (

)=100 mm Hg) and 3 mole of volatile component B( )

is 90 mm Hg. For such case:

A. There is positive deviation from Rsoult's law

B. boiling point has been lowered

Pa% P ∘
B

= 80mmHg

https://dl.doubtnut.com/l/_KVotikeXIxVF
https://dl.doubtnut.com/l/_h9NsH8YKbEm9
https://dl.doubtnut.com/l/_H6LOLzJk6t01


C. force of attraction between A and B is weaker than that between A

and A or betweenB and B

D. All the above statement are correct

Answer: d

Watch Video Solution

35. The azeotropic mixture of water ( ) and HCl(

)boils at about . During fractional distillation of

this mixture it is possible to obtain :

A. pure HCl

B. pure

C. pure  as well as pure HCl

D. Neither  nor HCl

Answer: d

B. P . = 100∘C

B. P . = 86∘C 120∘C

H2O

H2O

C2H5OH

https://dl.doubtnut.com/l/_H6LOLzJk6t01
https://dl.doubtnut.com/l/_JU60O7DzOq1w


Watch Video Solution

36. The azeotropic mixture of water ( ) and HCl(

)boils at about . During fractional distillation of

this mixture it is possible to obtain :

A. pure  only

B. Pure water only

C. Neither  nor water

D. Both water and  in pure state

Answer: c

Watch Video Solution

B. P . = 100∘C

B. P . = 86∘C 120∘C

C2H5OH

C2H5OH

C2H5OH

37. Which of the following has highest boiling point ?

A. shows positive deviation from Raoult's law

https://dl.doubtnut.com/l/_JU60O7DzOq1w
https://dl.doubtnut.com/l/_4ThSPwmL0a9H
https://dl.doubtnut.com/l/_Dh9Wojz1iWp2


B. shows negative deviation from Raoult's law

C. shows ideal behaviour

D. is saturated

Answer: b

Watch Video Solution

38. If two liquids A ( torr) and (  =200 torr ) which are

completely immiscible with each other (each one will behave

indepenently of the othere)are present in a closed vessel, the total

vapour pressure of the system will be :

A. less than 100 torr

B. greater than 200 torr

C. between 100 to 200 torr

D. 300 torr

P ∘
A

= 100 P ∘
B

https://dl.doubtnut.com/l/_Dh9Wojz1iWp2
https://dl.doubtnut.com/l/_prBxlXLSMskR


Answer: d

Watch Video Solution

39. A solution sontain 8 g of a carbohydrate in 100 g of water has a

density 1.025 g/mL and an osmotic pressure of 5 atm at . What is

the molar mass of the carbohydrate?

A. 7.975 g/mol

B. 166 g/ mol

C. 145.8 g/mol

D. None of these

Answer: c

Watch Video Solution

27∘C

https://dl.doubtnut.com/l/_prBxlXLSMskR
https://dl.doubtnut.com/l/_IZxRh5ZTqKRn


40. If the density of some lake water is 1.25g  and contains 92 g of 

 ions per kg of water, calculate the molality of Na+ ions in the lake.

A. 50

B. 60

C. 78.3

D. 38.46

Answer: d

Watch Video Solution

mL− 1

Na+

41. Which of the following is a colligative property?

A. Vapour pressure

B. Depression in f.pt.

C. Elevation in b.pt.

https://dl.doubtnut.com/l/_m0NRor1qNLhc
https://dl.doubtnut.com/l/_YkvZuZQMCoH0


D. Osmotic pressure

Answer: a

Watch Video Solution

42. The degree of an electrolyte is a and itsvan't Hoff factor is i. The

number of ions obtained by complate dissocition of 1 molecules of

electrolyte as :

A. 

B. i- a - 1

C. 

D. 

Answer: a

Watch Video Solution

i + a − 1

a

i − 1

a

i + 1 +
a

1 − a

https://dl.doubtnut.com/l/_YkvZuZQMCoH0
https://dl.doubtnut.com/l/_6DtsBDslcUjc
https://dl.doubtnut.com/l/_jE9RGPu1HZp4


43. One mole of a solute A is dissolved in a given volume of a solvent. The

association of the solute take place as follows:
 . If  is the

degree of association of , the van't hoff factor  is expressed as:

A. I = 1 - a

B. 

C. 

D. I = 1

Answer: C

Watch Video Solution

nA → An a

A i

i = 1 +
a

n

i =
1 − a + a

n

1

44. The van't Hoff factor  for an electrolyte which undergoes dissociation

and association in solvents respectively are:

A. greater than one and less then one

B. less then one and greater than one

i

https://dl.doubtnut.com/l/_jE9RGPu1HZp4
https://dl.doubtnut.com/l/_RixetKr3Cj9f


C. less then one and less than one

D. greater then one and greater than one

Answer: A

Watch Video Solution

45. Which solution has the highest vapour presssure ?

A. 0.02 M NaCl at C

B. 0.03 M sucrose at C

C. 0.005 M 

D. 0.005 M

Answer: c

Watch Video Solution

50∘

15∘

CaCl2at50∘C

CaCl2at25∘C

https://dl.doubtnut.com/l/_RixetKr3Cj9f
https://dl.doubtnut.com/l/_hyOKsacJXyEQ


46. An aqueous solution is 1.00 molalin KI. Which change will cause the

vapour pressure of the solution to increase ?


a) addition of water


b) addtion of NaCl


c) addtion of  

d) Addition of 1.0 molal KI

A. addition of water

B. addtion of NaCl

C. addtion of 

D. Addition of 1.0 molal KI

Answer: a

Watch Video Solution

Na2So4

Na2So4

47. Calculate the oxidation number of U in (UO2)2+

Watch Video Solution

https://dl.doubtnut.com/l/_azUwxCKfWMnk
https://dl.doubtnut.com/l/_SwzWRFLRmcLO


48. Calculate the oxidation number of S in K2S

Watch Video Solution

49. The vapour pressure of an aqueous solutionof sucrose at 373 k is is

found to 750 mm Hg. The molality of the solution at the same

tempreature will be :

A. 

B. 

C. 

D. None of these

Answer: c

Watch Video Solution

6.3 × 10− 4

3.5 × 10− 2

5 × 10− 3

https://dl.doubtnut.com/l/_SwzWRFLRmcLO
https://dl.doubtnut.com/l/_faEkwxihKCvj
https://dl.doubtnut.com/l/_dT6sk6XqxzdV
https://dl.doubtnut.com/l/_T3OySKLxbGdW


50. When 1 mole of a solute is dissolved in 1 kg of , boiling point of

solution was found to be C.  for  is :

A. 0.5

B. 100

C. 100.5

D. 95.5

Answer: a

Watch Video Solution

H2O

100.5∘ Kb H2O

51. Chloroform has  and boils at .

What is the value of  for chloroform ?

A. 61.9

B. 62

C. 52.2

ΔHvaporization = 29.2kJ /mol 61.2∘C

ΔSvaporization

https://dl.doubtnut.com/l/_T3OySKLxbGdW
https://dl.doubtnut.com/l/_4KvVv7JvLJIi


D. 62.67

Answer: d

Watch Video Solution

52. When 36.0 g of a solute having the empirical formula  is

dissovled in 1.20 kg of water, the solution freezes at . What is

the moleculer formula of the solute ? ( )

A. 

B. 

C. 

D. 

Answer: d

Watch Video Solution

CH2O

−0.93∘C

Kf = 1.86∘Ckgmol− 1

C30H24Fe3

C10H8Fe

C5H4Fe

C20H16Fe2

https://dl.doubtnut.com/l/_4KvVv7JvLJIi
https://dl.doubtnut.com/l/_DOLzd95gf8bD
https://dl.doubtnut.com/l/_iw9afHJx9Xbb


53. A solution of 0.640 g of azulene in 100.0 g of benzene is . The

boilingpoint of benzeneis , and  is /molal What is the

moleculer mass of azulene?


a) 108


b) 99


c) 125


d) 134

A. 108

B. 99

C. 125

D. 134

Answer: c

Watch Video Solution

80.23∘C

80.10∘C Kb 2.53∘C

https://dl.doubtnut.com/l/_iw9afHJx9Xbb


54. One molal solution of a carboxylic acid in benzene shows the

elevation of boiling point of 1.518 K. The degree of association for

simerization of the acid in benzene is (  for beznene = 

):

A. 0.6

B. 0.7

C. 0.75

D. 0.8

Answer: d

Watch Video Solution

Kb 2.53Kkgmol− 1

55. The normal boiling point of toluene is  and its boiling point

elevation constant . The enthalpy of vaporization of

toluene is nearly :

110.7∘C

3.32  K kg mol − 1

https://dl.doubtnut.com/l/_xdOxYmOgZI6C
https://dl.doubtnut.com/l/_FkQiDYOdMANJ


A. 

B. 

C. 

D. 

Answer: b

Watch Video Solution

17.0kjmol− 1

34.0kjmol− 1

51.0kjmol− 1

68.0kjmol− 1

56. Which one of the following aqueous solutions will exhibit highest

boiling point?

A. 0.015 M urea

B. 0.01 M 

C. 

D. 0.015 m glucose

Answer: c

KNO3

0.10MNa2SO4

https://dl.doubtnut.com/l/_FkQiDYOdMANJ
https://dl.doubtnut.com/l/_Z0rVs7sMpl9Z


Watch Video Solution

57. Calcuate the percentage degree of dissociation of an electrolyte 

(Normal molar mass = 164) in water if the water if the observed molar

mass by measuring elevation in boiling point is 65.6

A. 

B. 

C. 

D. None of these

Answer: a

Watch Video Solution

XY2

75 %

25 %

65 %

58. if the elevation in boiling point of a solution of non-volatile, non-

electrolytic and non-associanting solute in solvent ( )is

yK,then the depression in freezing point of solution of same

Kb = xKkgmol − 1

https://dl.doubtnut.com/l/_Z0rVs7sMpl9Z
https://dl.doubtnut.com/l/_QbPAtRCeFxxW
https://dl.doubtnut.com/l/_YjFVh35CtOsE


concentration would be 

(  )of the sovent = )

A. 

B. 

C. 

D. 

Answer: b

Watch Video Solution

Kf zk. kgmol − 1

2x
y

y

y
z

x

x
z

y

y
z

2x

59. When a solution containg non- volatile soute freezes, which

equilibrium would exist?

A. solid solvent  liquid sovent

B. solid solute  liquid solution

C. solid solute liquit sovent

⇔

⇔

⇔

https://dl.doubtnut.com/l/_YjFVh35CtOsE
https://dl.doubtnut.com/l/_Y2wByLJ8DiAd


D. solid solvent liquid solution

Answer: d

Watch Video Solution

⇔

60. Bromofrom has a nomal has freezing point of  and 

.a solution of 2.60 g of an unknown substance in 100 g

of bromoform freezes at . What is the molecules mass of the

unkniwn substance ?

A. 16.25

B. 162.5

C. 100

D. none of these

Answer: b

Watch Video Solution

7.734∘C

Kf = 14.4∘C /m

5.43∘C

https://dl.doubtnut.com/l/_Y2wByLJ8DiAd
https://dl.doubtnut.com/l/_TYt7RRgHkr0y


61.  freezes at . At what tempreature will a solution of 10.44 g

of  in 200 g of 

A. 

B. 

C. 

D. none of these

Answer: b

Watch Video Solution

C6H6 5.5∘C

C4H10 C6H6freezeKf(C6H6) = 5.12∘C /m

4.608∘C

0.892∘C

5.5∘C

62. How much ethyl alcohol must be added to  of water so that the

solution will not freeze at  ?

A. 20 g

B. 10.75 g

C. 492.2 g

1.00L

−4∘F

https://dl.doubtnut.com/l/_9ynBGjrFi7OQ
https://dl.doubtnut.com/l/_8w8l68HraeyC


D. 495 g

Answer: d

Watch Video Solution

63. The freezing point of a solution of 2.40 g of biphenyl( ) in 75.0

g of benzene ( ) is . The normal freezing point of benzene is 

. What is the molal freezing point constant  for

benzene ?

A. 5.3

B. 5.1

C. 4.6

D. 4.8

Answer: a

Watch Video Solution

C12H10

C6H6 4.40∘C

5.50∘C ( ^ ( ∘ )C /m)

https://dl.doubtnut.com/l/_8w8l68HraeyC
https://dl.doubtnut.com/l/_ynSOj675nh40


64. A solution containing 1.8 g of a compound (empirical formula )

in 40 g of water is observed to freeze at C. The molecules

formulea of the compound is (  of water =1.86kg K ):

A. 

B. 

C. 

D. 

Answer: d

Watch Video Solution

CH2O

−0.465∘

Kf mol− 1

C2H4O2

C3H6

C4H8O4

C6H12O6

65. Freezing point of the following equilibrium, liquid solvent  solid

solvent is :


a) 



b) 



⇔

△ H − △ G

T △ S
△ H

△ S

https://dl.doubtnut.com/l/_mSnjHDDD7CW6
https://dl.doubtnut.com/l/_1ojSV8Kl3g62


c) 



d) 

A. 

B. 

C. 

D. 

Answer: b

Watch Video Solution

△ G

△ S
△ S

△ H

△ H − △ G

T △ S

△ H

△ S

△ G

△ S

△ S

△ H

66. Freezing point of a solvent containing a non volatile solute

A.  of solution and solvent is almost identical since

intermolecular force between solvent molecules are involved

B.  solution (between solution and solid ) is lager than that of

the of solvent (between solvent and solid)

△ H

△ S

△ S

https://dl.doubtnut.com/l/_1ojSV8Kl3g62
https://dl.doubtnut.com/l/_MVctT5fZZoRA


C.  of then solution is smaller than that of the solvent

D.  of the solution is much higher than of solvent but  of

solvent than that of the solvent

Answer: b

Watch Video Solution

△ S

△ H △ S

67. When 36.0 g of a solute having the empirical formula  is

dissovled in 1.20 kg of water, the solution freezes at . What is

the moleculer formula of the solute ? ( )

A. 

B. 

C. 

D. 

Answer: d

CH2O

−0.93∘C

Kf = 1.86∘Ckgmol− 1

C2H4O

C2H2O2

C2H4O3

C2H4O2

https://dl.doubtnut.com/l/_MVctT5fZZoRA
https://dl.doubtnut.com/l/_wtAGnr4sN5QH


Watch Video Solution

68. Calulate the molesules mass of a substance whose 7.0% by mass

solution in water freezes at . the cryosctopic constant of water

is  :

A. 

B. 

C. 

D. 

Answer: b

Watch Video Solution

−0.93∘C

1.86∘Ckgmol− 1

140gmol− 1

150.5gmol− 1

160gmol− 1

155gmol− 1

69. Camphor is often used in molecular mass determination because

A. it is readily available

https://dl.doubtnut.com/l/_wtAGnr4sN5QH
https://dl.doubtnut.com/l/_53jCz1MCl3xR
https://dl.doubtnut.com/l/_mGs2Y7VMvYcj


B. it has a very high cryoscopic constant

C. it is volatile

D. if is solvent for organic substances

Answer: b

Watch Video Solution

70. Calculate the oxidation number of nitrogen (N) in N2O5

Watch Video Solution

71. Which of the following 0.1 M aqueous solution will have lowest

freezing point?

A. 

B. 

C. 

[Fe(H2O)6Cl]Cl3

[Fe(H2O)5Cl]Cl2. H2O

[Fe(H2O)4Cl2]Cl.2H2O

https://dl.doubtnut.com/l/_mGs2Y7VMvYcj
https://dl.doubtnut.com/l/_fhpLjEvsf3G5
https://dl.doubtnut.com/l/_bUOqCOSya42c


D. 

Answer: d

Watch Video Solution

[Fe(H2O)3Cl3].3H2O

72. Calculate depression of freezing point for 0.56 molal aq. Solution of

KCl. 

(Given : ).

A. 

B. 

C. 

D. 

Answer: c

Watch Video Solution

Kf (H2O ) = 1.8kgmol− 1

[Pt(H2O)6]Cl4

[Pt(H2O)5Cl]Cl2. 2H2O

[Pt(H2O)3Cl3]Cl. 3H2O

[Pt(H2O)2Cl4]. 4H2O

https://dl.doubtnut.com/l/_bUOqCOSya42c
https://dl.doubtnut.com/l/_rEXdJ4yQKr2V
https://dl.doubtnut.com/l/_m00pok1tGQjF


73. A complex is represented as . Its  molal solution in

aqueous solution shows  for  is 

 Assuming  ionisation of complex and co-

ordination number of  as six, calculate formula of complex.

A. 

B. 

C. 

D. none of these

Answer: b

Watch Video Solution

CoCl3. XNH3 0.1

ΔTf = 0.558∘ . (Kf H2O

1.86Kmolality − 1) 100 %

Co

[Co(NH3 _ (4)CL2]Cl

[Co(NH3)5Cl]Cl2

[Co(NH3)4CL2]Cl

74. The freezing point of equimolar aqueous solutions will be highest for

A. 

B. 

C6H5NH3Cl

Ca(NO3)2

https://dl.doubtnut.com/l/_m00pok1tGQjF
https://dl.doubtnut.com/l/_nxxKcxIAyfxI


C. 

D. 

Answer: d

Watch Video Solution

La(NO3)2

C6H12O6

75. The freezing point of 4% aqueous solution of 'A' is equal to the

freezing point 10% aqueous solution of 'B'. If the molecules mass of 'A'is

60, then the molecules mass of 'B' will be:

A. 160

B. 90

C. 45

D. 180

Answer: a

Watch Video Solution

https://dl.doubtnut.com/l/_nxxKcxIAyfxI
https://dl.doubtnut.com/l/_uYJQQ5cWrQ3C


76. The depression in freezing point of  aqueous 

solution is ,  urea solution freezes at . Assuming

molality equal to molarity,  of  solution is

A. 2

B. 3

C. 4

D. 5

Answer: b

Watch Video Solution

0.01m CH3C∞H

0.02046∘ 1m −1.86∘C

pH CH3COOH

77. When mercuric iodide is added to the aqueous solution of potassium

iodide, then:

A. freezing point is raised

https://dl.doubtnut.com/l/_uYJQQ5cWrQ3C
https://dl.doubtnut.com/l/_75SuqjZrhKad
https://dl.doubtnut.com/l/_Ub2CNPMINimj


B. Freezing point is lowered

C. freezing point does not change

D. boilingpoint does not change

Answer: a

Watch Video Solution

78. Draw structure of acetone.

Watch Video Solution

79. The temperature of a city was found to be C. A car used, whose

rasiator was filled with 5 L of water . What minimum quantity of

antifreezing agent ethylene glycol were added to water of raiator in

order to use the car for teavelling? ( of water 1.86 k 

A. 3200 g

−9.3∘

Kf mol− 1)

https://dl.doubtnut.com/l/_Ub2CNPMINimj
https://dl.doubtnut.com/l/_QynBfvmvnYGi
https://dl.doubtnut.com/l/_KFDecb9gaxlG


B. 1670 g

C. 1550 g

D. 2100 g

Answer: c

Watch Video Solution

80. The cryoscopic contant of water is 1.86 K kg . A 0.01 molal acetic

acid solution produces a depression of  in the freezing point.

The degree of dissociation of acetic acid is :

A. zero

B. 0.043

C. 0.43

D. 1

Answer: b

mol− 1

0.0194∘C

https://dl.doubtnut.com/l/_KFDecb9gaxlG
https://dl.doubtnut.com/l/_Mm5NAetuqVqV


Watch Video Solution

81. In a 0.5 molal solution KCl, KCl is 50% dissociated. The freezing point

of solution will be (  = 1.86 K kg ):

A. 274.674 K

B. 271.60 K

C. 273 K

D. none of these

Answer: b

Watch Video Solution

Kf mol− 1

82. A 1.0 g sample of co  is dissolved in 25.0 g if

water and the freezing point of the solution is . How many ions

are produced per mole of compound? The  of water is 

(NH2CH2CH2NH2)3Cl3

−0.87∘C

Kf 1.86∘C /molal

https://dl.doubtnut.com/l/_Mm5NAetuqVqV
https://dl.doubtnut.com/l/_qEBN2gGvoqwo
https://dl.doubtnut.com/l/_Tz3jew6Kfxkq


A. 2

B. 3

C. 4

D. 5

Answer: c

Watch Video Solution

83. Draw structure of metoxymethane.

Watch Video Solution

84. phenol associates in benzene to a certain extent in dimerisation

reaction. A solution containing 0.02 kg of phenol in 1.0 kg of benzene has

its freezing point depressed 0.69 k. Hence, the degree of association of

phenol demerized will be, [ ]


a) 0.63


Kf(C6H6) = 5.12kmol − 1

https://dl.doubtnut.com/l/_Tz3jew6Kfxkq
https://dl.doubtnut.com/l/_zXOuL2SIKoEd
https://dl.doubtnut.com/l/_GZElmPripaiT


b) 0.73


c) 0.83


d) 0.93

A. 0.63

B. 0.73

C. 0.83

D. 0.93

Answer: b

Watch Video Solution

85. Draw structure of methanal

Watch Video Solution

https://dl.doubtnut.com/l/_GZElmPripaiT
https://dl.doubtnut.com/l/_5gkXQjkaLSX9


86. In a 0.2 molal aqueus solution of a weak acid HX the degree of

dissociation is 0.25. The freezing point of the solution will be nearest to: (

)


a) 


b) 



c) 


d) 

A. 

B. 

C. 

D. 

Answer: d

Watch Video Solution

Kf = 1.86Kkgmol − 1

−0.26∘C

0.465∘C

−0.48∘C

−0.465∘C

−0.26∘C

0.465∘C

−0.48∘C

−0.465∘C

https://dl.doubtnut.com/l/_IOHjfL6Gdxvi


87. An aqueous solution of 0.01 M KCl cause the same elevation in boiling

point as an aqueous solution of urea. The concetration of urea solution

is :


a) 0.01 m


b) 0.005 M 

c) 0.02 M 

d) 0.04 M

A. 0.01 m

B. 0.005 M

C. 0.02 M

D. 0.04 M

Answer: c

Watch Video Solution

88. Write structure o 1,1- dichloropropane.

https://dl.doubtnut.com/l/_7U0MrMCJo1eK
https://dl.doubtnut.com/l/_SQHueG748VxN


Watch Video Solution

89. Write structural formula of but-2-en-1-oic acid

Watch Video Solution

90. Write structural formula of hexa-1,3,5-triene

Watch Video Solution

91. Write bond line formula for tert- butylcyclopentane.

Watch Video Solution

92. Write bond line formula for isopropylalcohol.

Watch Video Solution

https://dl.doubtnut.com/l/_SQHueG748VxN
https://dl.doubtnut.com/l/_gCEKwy2skjZv
https://dl.doubtnut.com/l/_RPyD32YJKOf8
https://dl.doubtnut.com/l/_SCjiMxPbQE1F
https://dl.doubtnut.com/l/_qYQVRgKqCPOw


93. Write bond line formula for 2,3-dimethylbutanal.

Watch Video Solution

94. Which one of the following pairs of solutions can be expected to be

isotonic at the same temperature ?

A. 0.1 M urea and 0.1 M NaCl

B. 0.1 M urea and 0.2 M

C. 0.1 M NaCl and 0.1 M 

D. 0.1 M 

Answer: d

Watch Video Solution

MgCl2

Na2SO4

Ca(NO3)2and0.1mNa2SO4

https://dl.doubtnut.com/l/_C4zocZ8uz0w0
https://dl.doubtnut.com/l/_sF3D99j5CjJY


95. The empirical formula of a non-electrolyte is . A solution

containing 3 g  of the compound exerts the same osmotic pressure

as that of 0.05 M glucose solution. The molecules formula of the

compound is :

A. 

B. 

C. 

D. 

Answer: b

Watch Video Solution

CH2O

L− 1

CH2O

C2H4O2

C4H8O4

C3H6O3

96. A semipermeable membrane used in the measurement of osmotic

pressure of a solution allows the passage of

A. solute molecular through it

https://dl.doubtnut.com/l/_QdeNegRJ4TLd
https://dl.doubtnut.com/l/_aXpmmx6GLIyy


B. solvent molecules though it

C. both solvent and solute molecules

D. either solvent or solute

Answer: b

Watch Video Solution

97. In the case of asmosis, solvent molecules move from :

A. higher vapour pressure to lower vapour pressure

B. higher concentration to lower concentration

C. lower vapour pressure to higher vopour pressure

D. higher osmotic pressure to lower osmotic pressure

Answer: a

Watch Video Solution

https://dl.doubtnut.com/l/_aXpmmx6GLIyy
https://dl.doubtnut.com/l/_mR9pHUq1qSru
https://dl.doubtnut.com/l/_oMoJjeR7MaQn


98. The osmotic pressures of equimolar solutions of urea,

willl be in the order :

A. 

B. 

C. 

D. 

Answer: a

Watch Video Solution

BaCl2  and AlCl3

AlCl3 > BaCl2 > urea

BaCl2 > AlCl3 > urea

urea > BaCl2 > AlCl3

BaCl2 > urea > AlCl3

99. Assuming each salt to be  dissociated which of the following will

have the highest osmotic pressure?

A. decimolar aluminium sulphate

B. decimolar barium chloride solution

C. decimolar sodium sulphate solution

90 %

https://dl.doubtnut.com/l/_oMoJjeR7MaQn
https://dl.doubtnut.com/l/_SUnI2kTTHFBl


D. solution of volume of decimolar barium choride and decimolar

sodium suphate solutions

Answer: a

Watch Video Solution

100. consider 0.1 M solutions of two solutes X and Y. The X behaves as a

univalent electrolyte while the solute Y dimerises in solution. Which of

the following statement are correct regarding these solutions? 

(1) The boiling point of the solution of X will be higher than that of Y 

(2) The osmotic pressure of the solution of Y will be lower than that of X 

(3) The freezing point of the solition of X will be lower than that of Y

(4) The relative lowering of vapour pressure of both the solutions will be

the same lt brgt Select the correct answer from the option given below

A. 1, 2 and 3

B. 2, 3 and 4

https://dl.doubtnut.com/l/_SUnI2kTTHFBl
https://dl.doubtnut.com/l/_iP27HmWl6lJx


C. 1, 2 and 4

D. 1, 3 and 4

Answer: a

Watch Video Solution

101. If  is the normal molecular mass and  is the degree of

ionization of , then the abnormal molecular mass of the

complex in the solution will be :

A. 

B. 

C. 

D. equal to 

Answer: b

Watch Video Solution

Mnormal α

K3[Fe(CN)6]

Mnormol(1 + 2a) − 1

Mnormol(1 + 3a) − 1

Mnormol(1 + a) − 1

Mnormol

https://dl.doubtnut.com/l/_iP27HmWl6lJx
https://dl.doubtnut.com/l/_H28QR2umeLOR


102. Equal valumes of 0.1 M urea and 0.1 M glucose are mixed. The mixture

will have :

A. lower osmotic pressure

B. same osmotic pressure

C. higher osmotic pressure

D. none of these

Answer: b

Watch Video Solution

103. A 5% (w/V ) solution of cane sugar (molecular mass = 342) is isotonic

with 1% (w/V) solution of a subtance X. The molecular mass of X is :

A. 34.2

B. 171.2

https://dl.doubtnut.com/l/_H28QR2umeLOR
https://dl.doubtnut.com/l/_d3Oz57ZoHDW8
https://dl.doubtnut.com/l/_Xu9BauCpTI1l


C. 68.4

D. 136.8

Answer: c

Watch Video Solution

104. A 1% (mass/vol) KCl solution is ionised to the extent of 80%. The

osmotic pressure at C of the solution will be :

A. 3 x 

B. 9 x

C. 4.5 x 

D. 5.16 x 

Answer: d

Watch Video Solution

27∘

105

105

105

106

https://dl.doubtnut.com/l/_Xu9BauCpTI1l
https://dl.doubtnut.com/l/_yBKxcgwzplDj
https://dl.doubtnut.com/l/_SRNnlgFCcMmr


105. An aqueous solution of sucrose ( ) having a concentration

of 34.2gram/ litre has an osmotic pressure of 2.38 atmospheres at C.

For an aqurous solution of glucose ( ) to be isotonic with this

solution , its concentration should be :

A. 34.2 gram per liter

B. 17.1 gram per liter

C. 18.0 gram per liter

D. 36.0 gram per liter

Answer: c

Watch Video Solution

C12H22O11

17∘

C6H12O6

106. Which of the following experimental methods is adopted to

determine osmotic pressure?

A. Berkley- Hartely's method

https://dl.doubtnut.com/l/_SRNnlgFCcMmr
https://dl.doubtnut.com/l/_MZd8oyPRqB8y


B. Beckmann's method

C. Landsberger's method

D. Differential method

Answer: a

Watch Video Solution

107. Estimste the lowering of vapour pressure due to the solute (glucose)

in a 1.0 m aqueous solution at :

A. 10.5 atm

B. 21 atm

C. 12.2 atm

D. 6.09 atm

Answer: c

Watch Video Solution

100∘C

https://dl.doubtnut.com/l/_MZd8oyPRqB8y
https://dl.doubtnut.com/l/_Aw62eH0fNqIJ


108. A 1% (mass/vol) KCl solution is ionised to the extent of 80%. The

osmotic pressure at C of the solution will be :

A. 6.95 atm

B. 5.94 atm

C. 2.71 atm

D. 3.30 atm

Answer: b

Watch Video Solution

27∘

109. Osmotic pressure of blood is 7.40 atm, at C. Number of moles of

glcouse to be used per liter for an intravenous injection that is to have

same osmotic pressure of blood is :

A. 0.3

27∘

https://dl.doubtnut.com/l/_Aw62eH0fNqIJ
https://dl.doubtnut.com/l/_Q1694lyNIQS3
https://dl.doubtnut.com/l/_PaYyfAdXYrHb


B. 0.2

C. 0.1

D. 0.4

Answer: a

Watch Video Solution

110. The relationship between osmotic pressure ( ) at a

definite temperature when 1 g glucose, 1 g urea and 1 g sucrose are

dissolved in 1 litre of water is (assume I = 1 for all):

A. 

B. 

C. 

D. 

Answer: c

π1, π2andπ3

π1 > π2 > π3

π3 > π1 > π2

π2 > π1 > π3

π2 > π3 > π1

https://dl.doubtnut.com/l/_PaYyfAdXYrHb
https://dl.doubtnut.com/l/_cPd8F7M7xlyy


Watch Video Solution

111. van't Hoff proved that osmotic pressure ( ) is a colligative property.

For an ideal solution, osmotic pressure( ) is helpful to determine that

molecular mass of solute using  Relation can exxpressed

by the curve (C = concentration) :

A. 

B. 

C. 

D. 

π

π

MB =
WBRT

π. V

https://dl.doubtnut.com/l/_cPd8F7M7xlyy
https://dl.doubtnut.com/l/_CUEt3pXUJmhx


Answer: a

Watch Video Solution

112. A solution containing 4.0 g of PVC in 2 liter of dioxane (industrial

solvent ) was found to have an osmotic pressure 3.0 x atm at .

The molar mass of the polymer (g/mol) will be :

A. 1.6 x 

B. 1.6 x 

C. 1.6 x 

D. 1.6 x 

Answer: b

Watch Video Solution

10− 4 27∘C

104

105

103

102

https://dl.doubtnut.com/l/_CUEt3pXUJmhx
https://dl.doubtnut.com/l/_S59T3IgxCOjk


113. The osmotic pressures of 0.010 M solutions of KI and sucrose (

) are 0.432 atm and 0.24 atm respectively. The van't Hoff factor

for KI is :

A. 1.8

B. 0.8

C. 1.2

D. 1

Answer: a

Watch Video Solution

C12H22O11

114. What is the correct sequence of osmotic pressure of 

solution of  


A. 

0.01Maq.

:

(a)Al2(SO4)3     (b)Na3PO4     (c)BaCl2     (d)Glucose

π4 > π2 > π3 > π1

https://dl.doubtnut.com/l/_f2R1WUz9xnst
https://dl.doubtnut.com/l/_mNUgf20K4hbe


B. 

C. 

D. 

Answer: d

Watch Video Solution

π3 > π4 > π2 > π1

π3 > π4 > π1 > π2

π1 > π2 > π3 > π4

115. Osmotic pressure of a solution is 0.0821 atm at temperature of 300 K.

The concentration of solution in  will be

A. 0.5 mole of AgCl

B. 1.0 mole of AgCl

C. 1.5 mole of AgCl

D. 3.0 mole of AgCl

Answer: b

Watch Video Solution

mol/litre

https://dl.doubtnut.com/l/_mNUgf20K4hbe
https://dl.doubtnut.com/l/_GSwVBByIwpet


116. A 1.0 g sample of co  is dissolved in 25.0 g if

water and the freezing point of the solution is . How many ions

are produced per mole of compound? The  of water is 

A. 1

B. 4

C. 2

D. 3

Answer: c

Watch Video Solution

(NH2CH2CH2NH2)3Cl3

−0.87∘C

Kf 1.86∘C /molal

117. Which of the following aquous solutions should have the highest

osmotic pressure?

A. 0.011 MAlCl3at50∘C

https://dl.doubtnut.com/l/_GSwVBByIwpet
https://dl.doubtnut.com/l/_2Vxs4s6ZlVRF
https://dl.doubtnut.com/l/_mzm9Yk99eRgb


B. 0.03 m NaCl at 

C. 0.012 m  at 

D. 0.03 m NaCl at 

Answer: d

Watch Video Solution

25∘C

(NH4)2SO4 25∘

50∘C

118. Write iupac name of CH2Cl2

Watch Video Solution

119. Which of the following curves represents the Henry's law ?

A. 

B. 

https://dl.doubtnut.com/l/_mzm9Yk99eRgb
https://dl.doubtnut.com/l/_6yGT5lltomR6
https://dl.doubtnut.com/l/_IoFgcwRvvlAM


C. 

D. 

Answer: a

Watch Video Solution

120. According to Henry's law, the solubility of a gas in a given volume of

liquid increases with increases in :

A. trmperature

B. pressure

C. Both (a) and (b)

D. none of these

Answer: b

https://dl.doubtnut.com/l/_IoFgcwRvvlAM
https://dl.doubtnut.com/l/_kkIUjqcwGFCI


Watch Video Solution

121. Determine the amount of  (i = 2.47) dissolved in 2.5 litre of

water such that its osmotic pressure is 0.75 atm at 27° C.

A. 0.1 g

B. 1.24 g

C. 0.48 g

D. 4.8 g

Answer: b

Watch Video Solution

CaCl2

122. 1 kg of water under a nitrogen pressure of 1 atmosphere dissolves

0.02 gm of nitrogenat 293 k. Calculate Henry' s law constant :

A. 7.2 x  L/atm10− 4

https://dl.doubtnut.com/l/_kkIUjqcwGFCI
https://dl.doubtnut.com/l/_Mgdwg4pqtjCn
https://dl.doubtnut.com/l/_xK09KXgw2Gwe


B. 7.7 x  atm

C. 2 x  atm

D. 2 x  atm

Answer: a

Watch Video Solution

103

10− 5

10− 2

123. According to Henry's law, the partial pressure of gas  is directly

proportional to mole fraction of gas in dissolved state, i.e.,

 where  is Henry's constant. Which are correct?

A.  is characteristic constant for a given gas-solvent system

B. Higher is the value of , lower is solubility of gas for a given

partial pressure of gas

C.  has temperature dependence

D.  decreases with increase of tempreature

(p'g )

Pgas' = KH , Xgas KH

KH

KH

KH

KH

https://dl.doubtnut.com/l/_xK09KXgw2Gwe
https://dl.doubtnut.com/l/_WK30tinseN0p


Answer: d

Watch Video Solution

124. At 760 torr pressure and  tempreature , 1 L of water dissolves

0.04 gm of pure oxygen or 0.02 gm of pure nitrogen. Assuming that dry

air is compound of 20% oxygen and 80% nitrogen (by volume), the

masses (in g/L) of oxygen and nitrogen dissolved by 1 L of water at 

exposed to air at a total pressure of 706 torr are respectively :

A. 0.008, 0.016

B. 0.016, 0.008

C. 0.16, 0.08

D. 0.04, 0.02

Answer: a

Watch Video Solution

20∘C

20∘C

https://dl.doubtnut.com/l/_WK30tinseN0p
https://dl.doubtnut.com/l/_95LpY20eHoqE
https://dl.doubtnut.com/l/_DcWhkPYGaDAx


125. Write bond line formula for Heptan-4-one.

Watch Video Solution

126. At , the vapour pressure of pure  is 850torr . A solution of

2.0 g of sulphur in 100g of  has a vapour pressure 844.9 torr.

Determine the atomicity of sulphur molecule :

A. 1

B. 2

C. 4

D. 8

Answer: d

Watch Video Solution

48∘C CS2

CS2

https://dl.doubtnut.com/l/_DcWhkPYGaDAx
https://dl.doubtnut.com/l/_5f2ttkYiFszR


127. For a binary ideal liquid solution, the total vapour of the solution is

given as:

A. 150

B. 180

C. 188.88

D. 198.88

Answer: c

Watch Video Solution

128. Draw structure of 3-chlorobutan-1-ol

Watch Video Solution

129. The functional group present in butanal is carboxylic acid.

W h Vid S l i

https://dl.doubtnut.com/l/_vY6SJdGOpTK2
https://dl.doubtnut.com/l/_zR5uiUy4kyrl
https://dl.doubtnut.com/l/_ui7MDoeDJkxL


Watch Video Solution

130. A certain non-volatile electrolyte contain 40% carbon, 6.7% hydrogen

and 53.3% oxygen.An aqueous solution containing 5% by mass of the

solute boils at C. Determine molecular formula of the compound(

):

A. HCHO

B. 

C. 

D. 

Answer: d

Watch Video Solution

100.15∘

Kb = 0.51∘C /m

CH3OH

C2H5OH

C6H12O6

131. Draw structure of 2-methlylpropane.

Watch Video Solution

https://dl.doubtnut.com/l/_ui7MDoeDJkxL
https://dl.doubtnut.com/l/_SF7we8AtmINd
https://dl.doubtnut.com/l/_SisEOzcmIRUn


132. An aqueous solution boils at . What is the freezing point of

the same solution? 

(Gives : )

A. 

B. 

C. 

D. none of these

Answer: b

Watch Video Solution

101∘C

Kf = 1.86∘C /mandKb = 0.51∘C /m

3.647∘C

−3.647∘C

−0.199∘C

133. Draw the structure of simolest alkene.

Watch Video Solution

https://dl.doubtnut.com/l/_SisEOzcmIRUn
https://dl.doubtnut.com/l/_0vhnl2nqSXvy
https://dl.doubtnut.com/l/_ZgXwksdLFIMC


134. Ratio of  of 10 g  and 14 g  per 100 g of solvent in

their respective, solution ( both are non-electrolytes ) is 1

mole/ kg in both cases. Hence, atomic wt. of A and B are respectively :

A. 100, 40

B. 60, 20

C. 20, 60

D. None of these

Answer: b

Watch Video Solution

△ Tb

Kb

AB2 A2B

AB2 and A2B

135. The freezing point of solution containing  of acetic acid in 

of benzene is lowered by . Calculate the degree of association of

acetic acid in benzene. 

0.2g 20.0g

0.45∘C

(Kf = 5.12K ∘mol− 1kg− 1)

https://dl.doubtnut.com/l/_zMCciaLXtqFk
https://dl.doubtnut.com/l/_LPwwnAJIQtrZ


A. 0.527

B. 0.8

C. 0.945

D. None of these

Answer: c

Watch Video Solution

136. An aqueous solution boils at . What is the freezing point of

the same solution? 

(Gives : )

A. 

B. 

C. 

D. None of these

101∘C

Kf = 1.86∘C /mandKb = 0.51∘C /m

0.361∘C

−0.361∘C

−3.61∘C

https://dl.doubtnut.com/l/_LPwwnAJIQtrZ
https://dl.doubtnut.com/l/_s2iPntKtuD28


Answer: b

Watch Video Solution

137. When 36.0 g of a solute having the empirical formula  is

dissovled in 1.20 kg of water, the solution freezes at . What is

the moleculer formula of the solute ? ( )

A. 95.5 g

B. 4.5 g

C. 45.5 g

D. 47.8 g

Answer: d

Watch Video Solution

CH2O

−0.93∘C

Kf = 1.86∘Ckgmol− 1

https://dl.doubtnut.com/l/_s2iPntKtuD28
https://dl.doubtnut.com/l/_8npSwHNLjkWA


138. In a 0.5 molal solution KCl, KCl is 50% dissociated. The freezing point

of solution will be (  = 1.86 K kg ):

A. 0.2

B. 0.25

C. 0.4

D. 0.5

Answer: b

Watch Video Solution

Kf mol− 1

139. 0.1 M KI and 0.2 M  are mixed in 3 : 1 volume ratio. The

depression of freezing point of the resulting solution will be [

]:

A. 3.72 K

B. 1.86 K

AgNO3

Kb(H2O) = 1.86Kkgmol − 1

https://dl.doubtnut.com/l/_XWRKo5COW7R6
https://dl.doubtnut.com/l/_wvf95X1pimqm


C. 0.93 K

D. 0.279 K

Answer: d

Watch Video Solution

140. If 0.1 M (aq.) solution shows freezing point  then

what is the ? (Assume m = M and )

A. 0.122

B. 0.0122

C. 1.11x 

D. None of these

Answer: b

Watch Video Solution

H2SO4 0.3906∘C

Ka2forH2SO4 Kf (H2O ) = 1.86Kkgmol− 1

10− 3

https://dl.doubtnut.com/l/_wvf95X1pimqm
https://dl.doubtnut.com/l/_oRztgRpDLgpZ
https://dl.doubtnut.com/l/_EFioqXmCNwbk


141. A living cell contains a solution which is isotonic with 0.2 M glucose

solution. What osmotic pressure develops when the cell is placed in 0.05

M solution at 300 K ?

A. 1.23 atm

B. 3.69 atm

C. 6.15 atm

D. None of these

Answer: a

Watch Video Solution

BaCl2

142. What is the correct sequence of osmotic pressure of 0.01 M aq.

Solution of : 

(1)  


(3)  (4) Glucose

A. 4.926 atm

Al2(SO4)3          (2)Na3PO4

BaCl2             

https://dl.doubtnut.com/l/_EFioqXmCNwbk
https://dl.doubtnut.com/l/_VNFkyFwi0EfO


B. 0.5024 atm

C. 5.024 atm

D. None of these

Answer: c

Watch Video Solution

143. A solution sontain 8 g of a carbohydrate in 100 g of water has a

density 1.025 g/mL and an osmotic pressure of 5 atm at . What is

the molar mass of the carbohydrate?

A. 387

B. 374

C. 3740

D. None of these

Answer: b

27∘C

https://dl.doubtnut.com/l/_VNFkyFwi0EfO
https://dl.doubtnut.com/l/_ylmidzNBY4iL


Watch Video Solution

144. Study the following figure and choose the correct options. Assuming

complete dissociation of electrolyte:

A. There will be net moment of any substance across the membrane

B.  will flow towards the  solution

C.  will flow towards the  solution

D. The  (osmotic pressure ) of 0.1 M  is higher than the  of

0.05 M 

Answer: d

Watch Video Solution

MgCl2 Al2(SO4)3

Al2(SO4)3 MgCl2

π MgCl2 π

Al2(SO4)3

https://dl.doubtnut.com/l/_ylmidzNBY4iL
https://dl.doubtnut.com/l/_zR5fick0f0Um


145. Write iupac name of CH3COCH(Cl)CH3

Watch Video Solution

146. Write iupac name of CH3-C(CH3)2-CH2-CH3

Watch Video Solution

147. Lowering in vapour pressure is determined by Ostwald and Walker

dynamic methed. It is based on the prinicipal , that when air is allowed to

pass through a solvent or solution, it takes up solventvapour with it to

get itself saturated at that temperature 

I and II are weighted separately before and after passing dry air. Loss in

mass of each set, gives the lowing of vapour pressure. The temperature

of air, the solution and the solvent is kept constant.

https://dl.doubtnut.com/l/_E7PxVyGi1TkY
https://dl.doubtnut.com/l/_LbbK8z274KGR
https://dl.doubtnut.com/l/_D1EFEU488iOw


 


Loss in masss of solvent ( )will be proportional to :

A. 

B. 

C. 

D. 

Answer: a

Watch Video Solution

wII

P ∘ − P

P − P ∘

P

P ∘

P × P ∘

148. What do you mean by alkanes.

Watch Video Solution

149. Write structure of benzoic acid.

https://dl.doubtnut.com/l/_D1EFEU488iOw
https://dl.doubtnut.com/l/_wyUkQSTw26aF
https://dl.doubtnut.com/l/_ezhW1tmZ1rbI


Watch Video Solution

150. Lowering in vapour pressure is determined by Ostwald and Walker

dynamic methed. It is based on the prinicipal , that when air is allowed to

pass through a solvent or solution, it takes up solventvapour with it to

get itself saturated at that temperature 

I and II are weighted separately before and after passing dry air. Loss in

mass of each set, gives the lowing of vapour pressure. The temperature

of air, the solution and the solvent is kept constant.

 


Loss in masss of solvent ( )will be proportional to :

A. 50

B. 62

C. 70

D. 80

wII

https://dl.doubtnut.com/l/_ezhW1tmZ1rbI
https://dl.doubtnut.com/l/_SamWdjkqx7bZ


Answer: b

Watch Video Solution

151. A dilute solution contains 'x' moles of solute A in 1 kg of solvent with

molal elevation constant . The solute dimerises in the solution

according to the following equation. The degree of association is (a) : 

 


The van't Hoff factor will be:

A. I = 1 -2a

B. I = 1 

C. I = 1 

D. I = 1 + a

Answer: b

Watch Video Solution

Kb

2A ⇔ A2

−
a

2

+
a

2

https://dl.doubtnut.com/l/_SamWdjkqx7bZ
https://dl.doubtnut.com/l/_U7Os52cm89cR
https://dl.doubtnut.com/l/_sjcVuVtsz1Lt


152. A dilute solution contains 'x' moles of solute A in 1 kg of solvent with

molal elevation constant . The solute dimerises in the solution

according to the following equation. The degree of association is (a) : 

 


The molecular mass observed will be:


a) greater than actual molecular mass


b) lesser than actual molecular mass


c) equal to the actual molecular mass


d) cannot be predicted by the date given

A. greater than actual molecular mass

B. lesser than actual molecular mass

C. equal to the actual molecular mass

D. cannot be predicted by the date given

Answer: a

Watch Video Solution

Kb

2A ⇔ A2

https://dl.doubtnut.com/l/_sjcVuVtsz1Lt
https://dl.doubtnut.com/l/_cbQ6PWCy1Lkr


153. A dilute solution contains 'x' moles of solute A in 1 kg of solvent with

molal elevation constant . The solute dimerises in the solution

according to the following equation. The degree of association is (a) : 

 


The degree of assoicition is equal to :


a) 



b) 



c) 



d) 

A. 

B. 

C. 

D. 

Answer: b

Watch Video Solution

Kb

2A ⇔ A2

a =
(Kbx − △ Tb)

△ Tb2

a =
2(Kbx − △ Tb)

Kbx

a = 2 +
2 △ Tb

Kbx

a =
△ Tb

2Kbx

a =
(Kbx − △ Tb)

△ Tb2

a =
2(Kbx − △ Tb)

Kbx

a = 2 +
2 △ Tb

Kbx

a =
△ Tb

2Kbx

https://dl.doubtnut.com/l/_cbQ6PWCy1Lkr
https://dl.doubtnut.com/l/_2F6LO3892tqi


154. Which of the following statement(s) is/are correct, if intermolecular

forces in liquids A, B and C are in the order of A lt B lt C ?

A. B evaporates more readily than A

B. B evaporates more readily than C

C. A evaporate more readily than C

D. all evaporates at same rate at same temperature.

Answer: b,c

Watch Video Solution

155. When non-volatile solute is added to a pure solvent, the:

A. vapour pressure of the solution becomes lower than the vapour

pressure of the pure solvent

B. rate of evaporation of solvent is reduced

C. solute does not affect the rate of condensation

https://dl.doubtnut.com/l/_2F6LO3892tqi
https://dl.doubtnut.com/l/_XJke8l23Gv43


D. none of these

Answer: a,b,c

Watch Video Solution

156. The total vapour pressure of a binary solution is gives by 

P = ( )mm Hg 


where, are the molefractions of components A and B. This

indicates that the:

A. vapour pressure of solution is less than the pure B component

B. vapour pressure of solution is less than the pure A component

C. vapour pressure of pure A is 100 mm Hg and that of pure B is 260

mm Hg

D. the vapour pressure of pure A and B are 260 mm Hg and 100 mm

hg respectively

100XA + 260XB

XA and XB

https://dl.doubtnut.com/l/_XJke8l23Gv43
https://dl.doubtnut.com/l/_qHgJrHE6JJML


Answer: a,b,c

Watch Video Solution

157. Which of the following is correct for an ideal solution?


a) 



b) 



c) 



d) 

A. 

B. 

C. 

D. 

Answer: a,b,d

Watch Video Solution

△ Hmix = 0  and △ Vmix = 0

△ Vmix = 0  and △ Smix > 0

△ Hmix > 0  and △ Smix > 0

△ Gmix < 0  and △ Smix > 0

△ Hmix = 0  and △ Vmix = 0

△ Vmix = 0  and △ Smix > 0

△ Hmix > 0  and △ Smix > 0

△ Gmix < 0  and △ Smix > 0

https://dl.doubtnut.com/l/_qHgJrHE6JJML
https://dl.doubtnut.com/l/_eJrJ987N32Wx
https://dl.doubtnut.com/l/_L86bg9570gPI


158. Which of the following is correct for a non-ideal solution of liquids A

and B showing negative deviation?

A. 

B. 

C. 

D. 

Answer: a,b,d

Watch Video Solution

△ Hmix = − ve

△ Vmix = − ve

△ Smix = − ve

△ Gmix = − ve

159. A binary solution of liquids A and B will show positive deviation from

Raoult's law if it fulfils the following condition:

A. 

B. The intermolecular forces of 

C. mixing is positive

PA > XAPA ∘ andPB > XBPB∘

A − B < A − A, B − B

△ H

https://dl.doubtnut.com/l/_L86bg9570gPI
https://dl.doubtnut.com/l/_AYRdc9GkK21o


D.  mixing is negative

Answer: a,b,c

Watch Video Solution

△ V

160. Which of the following statement is/are correct about acetone and

trichloromethane mixture?


a) Mixtures of acetone and trichloromethane show positive deviation

from Raoult's law


b) The forces of attaction acting between molecules of acetone and

trichoromethene in a mixture are stronger then those acting between

the molecules in pure acetone


c) Pure acetone can be obtained by the careful fractional distillation of

any mixture of acetone and trichloromethane


d) When acetone and trichoromethane are mixed, the enthapy change

negative

https://dl.doubtnut.com/l/_AYRdc9GkK21o
https://dl.doubtnut.com/l/_yjzdOuoFt4lU


A. Mixtures of acetone and trichoromethane show positive deviation

from Raoult's law

B. The forces of attaction acting between molecules of acetone and

trichoromethene in a mixture are stronger then those acting

between the molecules in pure acetone

C. Pure acetone can be obtained by the careful fractional distillation

of any mixture of acetone and trichloromethane

D. When acetone and trichoromethane are mixed, the enthapy changr

negative

Answer: b,d

Watch Video Solution

161. The azeotropic solution of two miscible liquids:

A. can be separated by simple distillation

https://dl.doubtnut.com/l/_yjzdOuoFt4lU
https://dl.doubtnut.com/l/_MrOqxgLt8Yx4


B. may show possitive or negative deviation from Raoult's law

C. are supersatureted solution

D. behave like a single component and boil at a constant temperature

Answer: b,d

Watch Video Solution

162. For exact determination of molecular mass through colligative

properties measurement :

A. solute must be volatile

B. solution must be vary dilute

C. solution must be formed by similar nature of subtances

D. solute must not be dissociated

Answer: b,d

Watch Video Solution

https://dl.doubtnut.com/l/_MrOqxgLt8Yx4
https://dl.doubtnut.com/l/_YM9kDt3MdQhr


163. Formula of toulene is ......................

Watch Video Solution

164. The rate constant depends on

A. the mole mass of the solute in the solution

B. the molar mass of the sovent in the solution

C. the enthalpy of fusion of the sovent

D. the freezing point of the solvent

Answer: b,c,d

Watch Video Solution

165. consider 0.1 M solutions of two solutes X and Y. The X behaves as a

univalent electrolyte while the solute Y dimerises in solution. Which of

https://dl.doubtnut.com/l/_YM9kDt3MdQhr
https://dl.doubtnut.com/l/_vk6iV8fUQVex
https://dl.doubtnut.com/l/_EWASQhli5hMX
https://dl.doubtnut.com/l/_KZXWDSy7IdkJ


the following statement are correct regarding these solutions? 

(1) The boiling point of the solution of X will be higher than that of Y 

(2) The osmotic pressure of the solution of Y will be lower than that of X 

(3) The freezing point of the solition of X will be lower than that of Y

(4) The relative lowering of vapour pressure of both the solutions will be

the same lt brgt Select the correct answer from the option given below

A. The boiling point of solution of 'X' will be higher than that of 'Y'

B. The osmotic pressure of solution of 'Y' will be lower than that of 'X'

C. The freezing point of solution of 'X' will be lower than that of 'Y'

D. The relative lowering of vapour pressure of both the solution will

be the same

Answer: a.b,c

Watch Video Solution

https://dl.doubtnut.com/l/_KZXWDSy7IdkJ


166. Consider following solutions: (I) I M glucose(aq) (II) 1 M sodium

choride(aq) 

(III) 1 M acetic acid in benzene (IV) 1 M ammonium phosphate (aq)


a) all are isotonic solutions


b) III is hypotonic of I, II, IV


c) I, II, IV are hypertonic of III


d) IV is hypertonic I, II, III

A. all are isotonic solutions

B. III is hypotonic of I, II, IV

C. I, II, Ivare hypertonic of III

D. IV is hypertonic I, II, III

Answer: b.c.d

Watch Video Solution

167. Which of the folloeing statement is (are) incorrect?

https://dl.doubtnut.com/l/_o5oAa2m8m6h3
https://dl.doubtnut.com/l/_2koIN3C6uCZw


A. 0.1 M KCl solution will have the same osmotic pressure as 0.1 M

glucose solution

B. 0.1 M KCl solution will have the same boiling point as 0.1 M urea

solution

C. 0.1 m glucose and 0.1 m urea are ismotic

D. 0.1 m  solution will have less relative lowering of vapour

pressure than 0.1 m NaCl

Answer: a,b,d

Watch Video Solution

MgCl2

168. Consider following solution: 

0.1 m , 0.1 m Kcl, 0.1 m Glucose, 0.1 m 

A. the solution with higher boiling point is 0.1 

B. the solution with higher freezing point is 0.1 m glucose

C6H5NH3 + Cl− Na2C2O4.10H2O

Na2C2O4.10H2O

https://dl.doubtnut.com/l/_2koIN3C6uCZw
https://dl.doubtnut.com/l/_iyvVOYucQxKh


C. 0.1 m  and 0.1 m NaClwill have the same osmotic

pressure

D. 0.1 m glucose solution will have the lowest osmotic pressure

Answer: a,b,c,d

Watch Video Solution

C6H5NH3Cl

169. Column -I and Column -II contain four entries each. Entries of column-

I are to be matched with some entries of column-II. One or more than one

entries of column-I may have the matching with the same entries of

column-II. 

Watch Video Solution

170. Write structure of 4-oxo -2-hydroxypentanal

https://dl.doubtnut.com/l/_iyvVOYucQxKh
https://dl.doubtnut.com/l/_t2Z50DG0p2FP
https://dl.doubtnut.com/l/_EWEaRrcKkOoP


Watch Video Solution

171. what is iodoform.

Watch Video Solution

172. What is bromoform.

Watch Video Solution

173. What is alkanols?

Watch Video Solution

174. What is the formula of butanoic acid

Watch Video Solution

https://dl.doubtnut.com/l/_EWEaRrcKkOoP
https://dl.doubtnut.com/l/_9LEs9a4Ap1tP
https://dl.doubtnut.com/l/_nhLr16R8zxsV
https://dl.doubtnut.com/l/_VT9UVrZx0Zjb
https://dl.doubtnut.com/l/_3wdbvXTom4FY


175. Write the IUPAC names of (i) CH 3
​
CH(CH 3
​
)CHO

Watch Video Solution

176. Write the IUPAC names of (ii) CH3CH(Br)CH2CH3.

Watch Video Solution

177. Each question contains STATEMENT-I(Assertion) and STATEMENT-

2(Reason).the statement carefully and mark the correct answer accoring

to the instrution given below: 

STATEMENT - 1 : Elevation in boiling point will be high if the molal

elevation constant of the liquid is high. 

STATEMENT - 2 : Elevation in boiling point is a colligative property.

A. If both the statements are TURE and STATEMENT-2 is the correct

explanation STATEMENT-1

https://dl.doubtnut.com/l/_wCUqySRZRyT9
https://dl.doubtnut.com/l/_9nZcTQDZmZAg
https://dl.doubtnut.com/l/_bojodYNZaxGZ


B. If both the statements are TURE but STATEMENT-2 is NOT the

correct explanation STATEMENT-1

C. If STATEMENT-1 is TURE and STATEMENT-2 is FALSE

D. If STATEMENT-1 is FA,SE and STATEMENT-2 is TRUE

Answer: B

Watch Video Solution

178. Write the IUPAC names of (III) CH3CHCl2

Watch Video Solution

179. Statement-1 : The observed molar mass of acetic acid in benzene is

more than the nomal molar mass of acetic acid. 

Statement-2 : Molecules of acetic and dimerise in benzene due to

hydrogen same.

https://dl.doubtnut.com/l/_bojodYNZaxGZ
https://dl.doubtnut.com/l/_gRBiBkdEhacW
https://dl.doubtnut.com/l/_wNWeXaMMHOkB


A. If both the statements are TURE and STATEMENT-2 is the correct

explanation STATEMENT-1

B. If both the statements are TURE but STATEMENT-2 is NOT the

correct explanation STATEMENT-1

C. If STATEMENT-1 is TURE and STATEMENT-2 is FALSE

D. If STATEMENT-1 is FA,SE and STATEMENT-2 is TRUE

Answer: A

Watch Video Solution

180. STATEMENT - 1 : addition of ethylene glycol to water lowers the

freezing point of water, therefore, used as antifreeze substance. 

STATEMENT - 2 : Ethylene glycol is soluble in water.

A. If both the statements are TURE and STATEMENT-2 is the correct

explanation STATEMENT-1

https://dl.doubtnut.com/l/_wNWeXaMMHOkB
https://dl.doubtnut.com/l/_u8LkbxBdhVdw


B. If both the statements are TURE but STATEMENT-2 is NOT the

correct explanation STATEMENT-1

C. If STATEMENT-1 is TURE and STATEMENT-2 is FALSE

D. If STATEMENT-1 is FA,SE and STATEMENT-2 is TRUE

Answer: B

Watch Video Solution

181. Each question contains STATEMENT-I(Assertion) and STATEMENT-

2(Reason).the statement carefully and mark the correct answer accoring

to the instrution given below: 

STATEMENT - 1 : Osmotic pressure is a colligative property. 

STATEMENT - 2 : Osmotic pressure is developed in a column due to

osmosis.

A. If both the statements are TURE and STATEMENT-2 is the correct

explanation STATEMENT-1

https://dl.doubtnut.com/l/_u8LkbxBdhVdw
https://dl.doubtnut.com/l/_tenRq5hcQgt9


B. If both the statements are TURE but STATEMENT-2 is NOT the

correct explanation STATEMENT-1

C. If STATEMENT-1 is TURE and STATEMENT-2 is FALSE

D. If STATEMENT-1 is FA,SE and STATEMENT-2 is TRUE

Answer: B

Watch Video Solution

182. Each question contains STATEMENT-I(Assertion) and STATEMENT-

2(Reason).the statement carefully and mark the correct answer accoring

to the instrution given below: 

STATEMENT - 1 : Osmotic involves movement of solvent molecules from

lower concentration to higher concentration. 

STATEMENT - 2 : Solutions having the same osmotic pressure are called

isotonic solutions.

https://dl.doubtnut.com/l/_tenRq5hcQgt9
https://dl.doubtnut.com/l/_dmPRb7kSb1Yt


A. If both the statements are TURE and STATEMENT-2 is the correct

explanation STATEMENT-1

B. If both the statements are TURE but STATEMENT-2 is NOT the

correct explanation STATEMENT-1

C. If STATEMENT-1 is TURE and STATEMENT-2 is FALSE

D. If STATEMENT-1 is FA,SE and STATEMENT-2 is TRUE

Answer: B

Watch Video Solution

183. Each question contains STATEMENT-I(Assertion) and STATEMENT-

2(Reason).the statement carefully and mark the correct answer accoring

to the instrution given below: 

STATEMENT - 1 : Isotonic solutions must hsve the same molal

concentration. 

STATEMENT - 2 : Solution which have the same osmotic pressure are

known as isotonic solution.

https://dl.doubtnut.com/l/_dmPRb7kSb1Yt
https://dl.doubtnut.com/l/_aUTdgb0I5gBf


A. If both the statements are TURE and STATEMENT-2 is the correct

explanation STATEMENT-1

B. If both the statements are TURE but STATEMENT-2 is NOT the

correct explanation STATEMENT-1

C. If STATEMENT-1 is TURE and STATEMENT-2 is FALSE

D. If STATEMENT-1 is FA,SE and STATEMENT-2 is TRUE

Answer: D

Watch Video Solution

184. STATEMENT - 1 : Isotonic solutions do not show phenomenon of

osmosis. 

STATEMENT - 2 : Isotonic solutions have same molal concentration at

same temperature.

A. If both the statements are TURE and STATEMENT-2 is the correct

explanation STATEMENT-1

https://dl.doubtnut.com/l/_aUTdgb0I5gBf
https://dl.doubtnut.com/l/_RYaUx4HMbyAc


B. If both the statements are TURE but STATEMENT-2 is NOT the

correct explanation STATEMENT-1

C. If STATEMENT-1 is TURE and STATEMENT-2 is FALSE

D. If STATEMENT-1 is FA,SE and STATEMENT-2 is TRUE

Answer: A

Watch Video Solution

185. STATEMENT - 1 : When dried fruits and vegetables are placed in water,

they slowly get swollen. 

STATEMENT - 2 : It happens due to the phenomenon of osmosis.

A. If both the statements are TURE and STATEMENT-2 is the correct

explanation STATEMENT-1

B. If both the statements are TURE but STATEMENT-2 is NOT the

correct explanation STATEMENT-1

https://dl.doubtnut.com/l/_RYaUx4HMbyAc
https://dl.doubtnut.com/l/_Oeny2DJsBfND


C. If STATEMENT-1 is TURE and STATEMENT-2 is FALSE

D. If STATEMENT-1 is FA,SE and STATEMENT-2 is TRUE

Answer: A

Watch Video Solution

186. Statement- Reverse osmosis is used to purify saline water. 

Explanation- Solvent molecules pass from concentrate solution to dilute

solution through semipermeable membrane if high pressure is applied

on solution side.

A. If both the statements are TURE and STATEMENT-2 is the correct

explanation STATEMENT-1

B. If both the statements are TURE but STATEMENT-2 is NOT the

correct explanation STATEMENT-1

C. If STATEMENT-1 is TURE and STATEMENT-2 is FALSE

D. If STATEMENT-1 is FA,SE and STATEMENT-2 is TRUE

https://dl.doubtnut.com/l/_Oeny2DJsBfND
https://dl.doubtnut.com/l/_oC6onjbJ7r1f


Answer: B

Watch Video Solution

187. Each question contains STATEMENT-I(Assertion) and STATEMENT-

2(Reason).the statement carefully and mark the correct answer accoring

to the instrution given below: 

STATEMENT - 1 : All solute becomes more soluble in water at higher

temperature. 

STATEMENT - 2 : Solubility of solute depends upon tempreature.

A. If both the statements are TURE and STATEMENT-2 is the correct

explanation STATEMENT-1

B. If both the statements are TURE but STATEMENT-2 is NOT the

correct explanation STATEMENT-1

C. If STATEMENT-1 is TURE and STATEMENT-2 is FALSE

D. If STATEMENT-1 is FA,SE and STATEMENT-2 is TRUE

https://dl.doubtnut.com/l/_oC6onjbJ7r1f
https://dl.doubtnut.com/l/_XBJNYmXJJC77


Answer: D

Watch Video Solution

188. Each question contains STATEMENT-I(Assertion) and STATEMENT-

2(Reason).the statement carefully and mark the correct answer accoring

to the instrution given below: 

STATEMENT - 1 : Henry's law is alawys applicable for gases. ltSTATEMENT -

2 : RAaoult's law is a special case of Henry's law.

A. If both the statements are TURE and STATEMENT-2 is the correct

explanation STATEMENT-1

B. If both the statements are TURE but STATEMENT-2 is NOT the

correct explanation STATEMENT-1

C. If STATEMENT-1 is TURE and STATEMENT-2 is FALSE

D. If STATEMENT-1 is FA,SE and STATEMENT-2 is TRUE

Answer: D

https://dl.doubtnut.com/l/_XBJNYmXJJC77
https://dl.doubtnut.com/l/_9yqoPK5XW7Bz


Watch Video Solution

189. Each question contains STATEMENT-I(Assertion) and STATEMENT-

2(Reason).the statement carefully and mark the correct answer accoring

to the instrution given below: 

STATEMENT - 1 : Osmotic pressure is a colligative property. 

STATEMENT - 2 : Osmotic pressure is developed in a column due to

osmosis.

A. If both the statements are TURE and STATEMENT-2 is the correct

explanation STATEMENT-1

B. If both the statements are TURE but STATEMENT-2 is NOT the

correct explanation STATEMENT-1

C. If STATEMENT-1 is TURE and STATEMENT-2 is FALSE

D. If STATEMENT-1 is FA,SE and STATEMENT-2 is TRUE

Answer: C

W t h Vid S l ti

https://dl.doubtnut.com/l/_9yqoPK5XW7Bz
https://dl.doubtnut.com/l/_5RYjELMsK0Pa


Watch Video Solution

190. Each question contains STATEMENT-I(Assertion) and STATEMENT-

2(Reason).the statement carefully and mark the correct answer accoring

to the instrution given below: 

STATEMENT - 1 : The molescular mass of acetic acid determined by

depression in freezing point method in benzene and water was found to

be differrent. 

STATEMENT - 2 : Water is polar and benzene is non-polar.

A. If both the statements are TURE and STATEMENT-2 is the correct

explanation STATEMENT-1

B. If both the statements are TURE but STATEMENT-2 is NOT the

correct explanation STATEMENT-1

C. If STATEMENT-1 is TURE and STATEMENT-2 is FALSE

D. If STATEMENT-1 is FA,SE and STATEMENT-2 is TRUE

Answer: A

https://dl.doubtnut.com/l/_5RYjELMsK0Pa
https://dl.doubtnut.com/l/_iT5LJNtql7Hz


Watch Video Solution

191. Each question contains STATEMENT-I(Assertion) and STATEMENT-

2(Reason).the statement carefully and mark the correct answer accoring

to the instrution given below: 

STATEMENT - 1 : If red blood cells wrer removed from the body and placed

in pure water, pressure inside the cell increases. 

STATEMENT - 2 : The concentration of the salt content in the cells

increases.

A. If both the statements are TURE and STATEMENT-2 is the correct

explanation STATEMENT-1

B. If both the statements are TURE but STATEMENT-2 is NOT the

correct explanation STATEMENT-1

C. If STATEMENT-1 is TURE and STATEMENT-2 is FALSE

D. If STATEMENT-1 is FA,SE and STATEMENT-2 is TRUE

Answer: C

https://dl.doubtnut.com/l/_iT5LJNtql7Hz
https://dl.doubtnut.com/l/_syXbgstp4BKf


Watch Video Solution

192. Each question contains STATEMENT-I(Assertion) and STATEMENT-

2(Reason).the statement carefully and mark the correct answer accoring

to the instrution given below: 

STATEMENT - 1 : Osmotic pressure is a colligative property. 

STATEMENT - 2 : Osmotic pressure is developed in a column due to

osmosis.

A. If both the statements are TURE and STATEMENT-2 is the correct

explanation STATEMENT-1

B. If both the statements are TURE but STATEMENT-2 is NOT the

correct explanation STATEMENT-1

C. If STATEMENT-1 is TURE and STATEMENT-2 is FALSE

D. If STATEMENT-1 is FA,SE and STATEMENT-2 is TRUE

Answer: D

Watch Video Solution

https://dl.doubtnut.com/l/_syXbgstp4BKf
https://dl.doubtnut.com/l/_ZH6BljgywE30


Watch Video Solution

193. The vapour pressure of two pure liquids A and B are 5 and 10 torr

respectively. Calculate the total pressure of the solution (in torr)

obtained by mixing 2 mole of A and 3 mole of B.

A. 2 torr

B. 4 torr

C. 8 torr

D. 6 torr

Answer: 8

Watch Video Solution

194. The vapour pressure of two pure liquids A and B are 50 and 40 torr

respectively. If 8 molrs of A is mixed with x moles of B , then vapour

pressure of solution obtained is 48 torr. What is the value of x.

https://dl.doubtnut.com/l/_ZH6BljgywE30
https://dl.doubtnut.com/l/_xhoFSJUJ8zlm
https://dl.doubtnut.com/l/_IhC1XP5VvLER


Watch Video Solution

195. The vapour pressure of a liqid solution containing A and B is 99 torr.

Colculate mole % of B in vapour phase. (Given :

Watch Video Solution

PA ∘ = 100 → rr, PB∘ = 80 → rr)

196. If 30 g a solute of molecular mass 154 is dissolved in 250 g of

benzene. What will be the elevation in boiling point of the resuling

solution ?

(Given : )

Watch Video Solution

KB(C6H6) = 2.6Kkgmol− 1

197. Calculate elevation in boiling point for 2 molal aqueous solution of

glucose. 

(Given )Kb(H2O) = 0.5kgmol− 1

https://dl.doubtnut.com/l/_IhC1XP5VvLER
https://dl.doubtnut.com/l/_nNebhJF6tcje
https://dl.doubtnut.com/l/_0BC8NxPpegNY
https://dl.doubtnut.com/l/_74RorJ0XDgpp


Watch Video Solution

198. Calculate depression of freezing point for 0.56 molal aq. Solution of

KCl. 

(Given : ).

Watch Video Solution

Kf (H2O ) = 1.8kgmol− 1

199. for an aqueous solution of `K^4[Fe(CN)_6], the value of van't Hoff

factor , I is 5( approx).

Watch Video Solution

200. A solution containing 500 g of a protein per liter is isotonic with a

solution containing 3.42 g sucrose per liter. The molecular mass of

protein in 5 x , hence x is.

Watch Video Solution

10x

https://dl.doubtnut.com/l/_74RorJ0XDgpp
https://dl.doubtnut.com/l/_CBi2YtbdShhL
https://dl.doubtnut.com/l/_VzRWRGQpSYZ4
https://dl.doubtnut.com/l/_e6K1r4xaRTQe


Level 1 Q 62 To Q 91

201. An aqueous solution of urea has a freezing point of .

Predict the osmotic pressure (in atm) of the same solution at .

Watch Video Solution

−0.515∘C

37∘C

202. for an aqueous solution of `K^4[Fe(CN)_6], the value of van't Hoff

factor , I is 5( approx).

Watch Video Solution

1. If 1m solution of benzoic acid in benzene has a freezing point

depression of  . kg) and boiling point

elevation of  = , then select the correct

statement/s :lt brgtstatement I : there are dimar formation when under

=going freezing 

3.84∘C (Kf = 5.12∘Cmol− 1

2.53∘C(Kb 2.53∘Cmol − 1kg)

https://dl.doubtnut.com/l/_e6K1r4xaRTQe
https://dl.doubtnut.com/l/_gsi1TwsZEibY
https://dl.doubtnut.com/l/_aPBYWmFoVBqj
https://dl.doubtnut.com/l/_FyRZSGEOB90j


Level 2

Statement II : there are no change when undergoing boiling 

Statement III : reverse of I and II ltbr. Statement IV : dimer formation in

freezing and boiling state

A. I, II

B. II, III

C. III, I

D. only I

Answer: a

Watch Video Solution

1. Write bond line formula for cyclohexanone.

Watch Video Solution

https://dl.doubtnut.com/l/_FyRZSGEOB90j
https://dl.doubtnut.com/l/_uqUkgHnaUW1X
https://dl.doubtnut.com/l/_QXBOoEHg8TQn


2. Write structural formula for 5-oxohexanoic acid.

Watch Video Solution

3. The total vapour pressure of a 4 mole % solution of  in water at

293 K is 50.0 torr. The vapour pressure of pure water is 17.0 torr at this

temperature . Applying Henry's and Raoult's laws, calcilate the total

vapour pressure for a 5 mole % solution:

A. 58.25 torr

B. 33 torr

C. 42.1 torr

D. 52.25 torr

Answer: a

Watch Video Solution

NH3

https://dl.doubtnut.com/l/_QXBOoEHg8TQn
https://dl.doubtnut.com/l/_f8mp0h2wbKyl


Level 3 Match The Column

1. Column -I and Column -II contain four entries each. Entries of column-I

are to be matched with some entries of column-II. One or more than one

entries of column-I may have the matching with the same entries of

column-II. 

Watch Video Solution

https://dl.doubtnut.com/l/_Iqp8slsVujGM

